Memory Game Rubric
section
points | points
1. Gives correct answer: 1/3 or 33.3% 1
Gives a correct explanation such as:
One of the remaining three cards has an apple on it. 1
2
2. Gives correct answer such as:
One of the cards he did not turn over the first time. 1
1
3. Gives correct answer: 1/5 or 20% 1
Gives a correct explanation such as:
It does not matter which card he turns over first, when one card has been
turned over there are 5 left and only 1 of those will make the pair. 2
May draw tree diagram.
3
4. Gives correct answer: 1/15 or 6.6% 1
Shows correct work such as: 2/6 x 1/5. 1
May list possibilities or draw tree diagram. 2
Total Points 10
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